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Introduction 

• Airports Commission’s (AC’s) Final Report published in July 2015 

• AC recommended a 3rd runway at Heathrow with an integral 
package of conditions 

• Government decision on airport expansion this year 

• This presentation provides TfL’s view on the AC’s analysis and 
conclusions 

• The presentation: 
 

– summarises the AC’s assessment 
 

– identifies TfL’s concerns  
 

– sets out TfL’s conclusions on the implications for London 
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The Airports 
Commission’s 
assessment 



The AC uses a number of assumptions to assess the 
surface access impact of a 3 runway Heathrow 
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Million 
passengers 
p.a.(mppa) 

73 87.5  
(+20%) 

125  
(+71%) 

Staff (000s) 77 81 (+5%) 
 

115 (+49%)
   

Transfer 
passengers 

(%) 
37% 23% 33% 

PT mode 
share (staff & 
passengers) 

40% 53% 53% 

Current 
2030  

3 runways 
2030 

 2 runways 

Presenter
Presentation Notes
Maybe change to % of staff reporting in each day? The current 85% needs investigation but we could add an * - AC use 57%



The AC estimates this will lead to over 100,000 more trips 
on public transport a day compared to today... 
Heathrow daily demand forecasts using AC’s assumptions 
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 -

 50,000

 100,000

 150,000

 200,000

 250,000

Current 2030 Do-Mininum
(87.5mppa)

2030 with Expansion
(partial

utilisation125mppa)

Highway

PT

41,000 
more car 
trips than 
today 
(+34%) 

110,000 
more PT 
trips than 
today 
(+124%) 
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The majority of Heathrow airport’s passengers and staff 
currently use London’s transport network 
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The AC forecasts at least half of future passengers will travel through London with a 
a similar proportion for staff 
 

West: M4 &  
New Western Rail Access 

South and Southwest:  
M3, M25 & New Southern Rail Access 

Rest of UK by Road 
M25, M40, M1 

Southeast by rail  

North & East UK by rail 

London 

50-60% of Heathrow 
users dependent on 
London’s transport 
network – 25% to / 
from central London 



CURRENT 

4 tph Heathrow Express (to T5) 
2 tph Heathrow Connect (to T4) 

6 tph Piccadilly line to T5 
6 tph Piccadilly line to T4 

Heathrow is currently served by Heathrow Express, 
Heathrow Connect and the Piccadilly Line 

Heathrow Express / Connect 

Piccadilly Line 



FUTURE (baseline) 

Western 
Rail Access Crossrail 

4 tph Heathrow Express (to T5) * 
4 tph Crossrail (to T4) 

8-9 tph Piccadilly line to T5 
8-9 tph Piccadilly line to T4 

4 tph Reading -Heathrow T5 

Piccadilly line Upgrade 

Old Oak 
Common 

[Potential for combining services into through-Heathrow routes] CURRENT Without a third runway, it will  benefit from Crossrail, the 
Piccadilly Line upgrade & a new Western Rail Access 



PROPOSED (Airports Commission) 

4 tph Heathrow Express (to T5)  
4 tph Crossrail (to T4) 

8-9 tph Piccadilly line to T5 
8-9 tph Piccadilly line to T4 

* Route and service pattern of Southern Rail Access purely indicative in advance of new NR study being publishe  

Southern 
Rail Access 

4 tph Reading -Heathrow T5 
2 tph Woking/Guildford-Heathrow T5* 

2 tph London Waterloo-Heathrow T5* 
2 tph Staines-Heathrow T5* 

[Potential for combining services into through-Heathrow routes] FUTURE (baseline) [Potential for combining services into through-Heathrow routes] CURRENT With a third runway, the AC indicated that a Southern Rail 
Link would be required 



PROPOSED (Airports Commission) 

4 tph Heathrow Express (to T5)  
4 tph Crossrail (to T4) 

8-9 tph Piccadilly line to T5 
8-9 tph Piccadilly line to T4 

* Route and service pattern of Southern Rail Access purely indicative in advance of new NR study being published 

4 tph Reading -Heathrow T5 
2 tph Woking/Guildford-Heathrow T5* 

2 tph London Waterloo-Heathrow T5* 
2 tph Staines-Heathrow T5* 

[Potential for combining services into through-Heathrow routes] FUTURE (baseline) [Potential for combining services into through-Heathrow routes] CURRENT However the AC indicates there will be significant rail 
capacity challenges in 2031 with an expanded airport 

Crossrail is “forecast to be 
highly congested during the 

morning”. AC Final Report 

Southern Rail Link “is not viable 
unless additional capacity can be 
provided on the Windsor Line 
through Richmond”. AC Surface Access Report 

“Piccadilly 
Line will also 
be reaching 

the limits of its 
capacity as it 
approaches 

central 
London”. AC 

Final Report 

“the challenges are primarily driven 
by background demand growth which 

the government will need to tackle 
whether expansion takes place or 

not”. AC Final Report 



CURRENT 

M40 
M25 

M4 

M3 

Heathrow 

CURRENT Heathrow is connected to some of the busiest motorways in 
the UK 



FUTURE (baseline) 

M40 
M25 

M4 

M3 

Smart M3 Jn2-4a 

Smart M4 Jn3-12 
Heathrow 

CURRENT Without a third runway, smart running on the motorway 
network is expected to increase capacity on the M3 & M4 



PROPOSED (Airports Commission) 

M40 M25 

M4 

M3 

Widening M4 Jn2-4b and spur 

Heathrow 

Diversion of local roads due to 
enlarged airfield 
New Heathrow south road 
tunnel  

M25 tunnel Capacity upgrade to M4 Jn 4a & tunnel 

Replacement 
of M4 Jn 4b 

CURRENT With a third runway, the AC indicated that the M4 would 
need to be widened along with enabling schemes  



PROPOSED (Airports Commission) 

M40 M25 

M4 

M3 

Heathrow 

CURRENT However the AC indicates there will be significant highway 
capacity challenges in 2031 with an expanded airport 

“...many key road and rail links in the 
region are expected to be close to 

capacity by 2030 ”. AC Final Report  

“a number of links near to the 
airport, particularly those 

sections of the M4 in closest 
proximity, are expected to 

require widening to cope with 
increased demand resulting from 

expansion, although demand 
management measures, such as 

congestion charging, could be 
used as an alternative to this. ” 

 AC Final Report  

“the challenges are primarily driven 
by background demand growth which 

the government will need to tackle 
whether expansion takes place or 

not”. AC Final Report 



TfL’s concerns with the 
AC’s assessment 



Background travel demand will be higher than assumed by 
the AC with the GLA’s new interim employment forecasts 
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 -

 50,000

 100,000

 150,000

 200,000

 250,000

 300,000

Current 2030 Do-Minimum
(87.5mppa)

2030 with Expansion
(partial

utilisation125mppa)

2030+Full Expansion
(148mppa)

Highway

PT

The AC has not assessed the impact of full utilisation of the 
3 runways 
Heathrow daily demand forecasts: 
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Additional 
demand from 
a fully utilised 

3 runway 
airport would 

generate 
around 70,000 
more airport 
trips per day 

+32K 
highway 
trips 

+37K 
PT 
trips 

Presenter
Presentation Notes
Added more text



The AC has not included the full impact of additional freight 
and growth in business activity around the airport 
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Thousands of 
additional freight 
and extra activity 
generated from 
business growth 
around Heathrow 

have not been fully 
included in the 
AC’s analysis  

Presenter
Presentation Notes
Extend bars

http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCKmg-rL3y8cCFYE0FAodLmgA2Q&url=http://www.telegraph.co.uk/news/politics/9545247/Ministers-announce-new-road-tax-on-foreign-lorries.html&ei=wGjgVanAC4HpUK7QgcgN&psig=AFQjCNGFszT10LicHIyh_m2-JPyUDhI8xA&ust=1440856636110057


Many of the other assumptions could be seen as optimistic 
& sensitivity testing should have been undertaken  
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Million 
passengers 
p.a.(mppa) 

73 87.5  
(+20%) 

125  
(+71%) 

Staff (000s) 77 81 (+5%) 
 

115 (49%)
   

Transfer 
passengers 

(%) 
37% 23% 33% 

PT Mode 
share (staff & 
passengers) 

40% 53% 53% 

Current 
2030        
3 
runways 

2030         
2 
runways 



The extra runway results in NO2 concentrations on Bath 
Road higher than the current worst link in London 
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• Without mitigation the AC found that the Bath Road would have the 
highest NO2 concentrations in London. This would delay compliance with 
EU limits even with the AC’s conservative traffic assumptions. 

• With partial mitigation the Bath Road would fall just below the worst link 
in London so, it is claimed, would not delay compliance.  However: 
– The AC has underestimated highway demand which will add to the air 

quality challenges in the area. 
– Mitigation measures are poorly developed 
– Transformational changes in PT would be required to meet limit values. 
– The ‘last link’ approach is legally flawed and open to challenge and does 

not support the AC objective of improving air quality 

• Defra’s recently published Draft Air Quality Action Plan substantially 
changes the baseline air quality and brings forward compliance by 10 
Years.  The impacts of a 3rd Runway at Heathrow must be completely 
reassessed in light of the revised action plan. 



 -

 50,000

 100,000

 150,000

 200,000

 250,000

 300,000

 350,000

Current 2030 Do-Minimum
(87.5mppa)

2030 with Expansion
(partial

utilisation125mppa)

2030+Full Expansion
(148mppa)

Full Expansion
(148mppa) & CCharge

Highway

PT

A road user charging scheme to address congestion and 
air quality would add substantial demand to public transport 

Heathrow daily demand forecasts: with charging (AC assumptions) 
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“demand management 
measures including 
congestion charging 

would increase demand 
on sections of the rail 

network that are already 
forecast to be congested 
in 2030.” AC Consultants 

Demand Management 
Study 

 
 
 
 
 
Source:  AC Demand Management: Road User Charing Analysis,  
Para. 4.1.1 “reduction of car mode share among airport passengers from 47.1% to 38.7%; Para 4.2.8 “20% reduction in employee car demand“ 
 
 

Road user charging 
adds c90,000 additional 
PT trips per day to AC’s 
2030 estimate  



Conclusions 



A substantially greater level of public transport investment 
will be required  

• Substantial transport capacity 
challenges arising from background 
demand growth & Heathrow 
expansion.  

• AC: Expansion is ‘not a 
transformative factor that would 
significantly change the scale of 
these challenges’ i.e. it is not 
Heathrow’s problem. 

• TfL: If non-committed schemes 
are required for a 3rd runway they 
need to be identified and their 
costs included to ensure delivery 
with a 3rd runway. 

• Without commitment to additional 
investment there’s a real risk of 
severe impacts on both airport and 
non-airport travellers, increased 
crowding and congestion, and an 

b ti  f i  lit  bl   
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Indicative costs associated with 
meeting capacity challenges with an 

expanded airport 



Questions 
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